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QUESTION 1

What must be installed on an AlX server prior to a Hitachi Dynamic Link Manager (HDLM) installation?
A. MPXIO

B. HACMP

C. Hitachi ODM

D. Hitachi Tuning Manager agent

Correct Answer: C

QUESTION 2

Which CLI command can be used to add an LDEV on a VSP?
A. ldev create device

B. raidcom add Idev

C. comraid add device

D. raidcom initialize Idev

Correct Answer: B

QUESTION 3

Which two statements regarding how users login to Storage Navigator 2 on a VSP are correct? (Choose two.)
A. A user name can only be used by one user at a time.

B. Multiple users can login using a different user name each.

C. Multiple users can login using the same user name.

D. A maximum of 4 users can login at the same time.

Correct Answer: AB

QUESTION 4

What are two ways to ensure secure access to storage through a fabric? (Choose two.)
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A. Use SNMP.

B. Use zoning.

C. Use Host Group security.

D. Use port security on the switch(es).

Correct Answer: BC

QUESTION 5

A customer is using two Hitachi Dynamic Tiering (HDT) pools. Each pool contains only SAS and SATA drives. They
want to purchase a Solid State Disk (SSD) RAID group and use it effectively. They are not sure into which pool to put
the SSD RAID group, because they may need to move it later.

Which two HDT capabilities will provide flexible use of the SSD RAID group? (Choose two.)

A. The pool can be shrunk.

B. The pool can be migrated.

C. The pool can be expanded.

D. The pool can be replicated.

Correct Answer: AC
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